11 Review of the match  lost to Nuts-Bolts 2007-03-14

Most of the time we played the same contracts at both tables. But the number of tricks we made were very different .:( .

We lost because opponents played the cards (especially in defense) better than we did. Biddding was ok in most hands. But we must work on declarer play AND DEFENSE.

All defense needs count, count, count:

1. Declarers distribution

2. Declarers HCP

3. Declarers tricks.

# 1. Mistake in discarding the diamond 4.  You can count 6S+2H+2D+1C= 11 tricks. If declarer had the K of clubs as well, he has 12 tricks from the top. So it cannot cost a trick to discard a small club. But you must foresee, what will happen, if you discard a diamond.
# 2. 1NT should be just made. Declarer had shown SK HQ DKJ = 9HCP. He has shown 12-14 by the bidding. Partners lead showed AJ of spades or no higher. So it is not necessary to play a spade afterr the K of hearts. But it maybe very necessary to open the clubs for partner. (Overtrick only).
Declarer in 3D has no chance against perfect defense. But after A of diamonds you should play a small heart from table. Now opponents must defend with transparent cards in the blacks.
It is a matter of communication to safe the A of hearts as entry to the established hearts.
Bidding is not easy in this hand. White/against red West should not pass 1NT imo. But this is not clearcut.
# 3. Lucky 4H. I don’t like the 3H bid with only 13 HCP and bad hearts. But it worked. And success is waht counts.
5C is the much better contract. 1H 1N 2C 3C(game invite) 3H(6-carder)
# 4. Bidding: East should not bid twice with this 5HCP. He has told his story with 1S (The suit is bad enough). Even after the 2D bid WEST should let them play 3C. West has 9 working HCP after North bid clubs.
In Spades East could not make more than 6 tricks.
But in the other room our pair reached a nice 3NT, which are not to lose. You must hope that the diamonds are distributed 4-4 and the club finesse is on. Play a heart at trick 2 and you’ll lose only 3 diamonds and the A of hearts. After you played the A of spades at trick2, you must lose 5 tricks for sure:
SK+HA+3 diamonds.
# 5. Push

# 6. 1NT-2 and 1NT+1 Must be 1NT-1 at least
Don’t try to be clever: If you don’t lead partners suit, always lead your longest suit. The lead costed 1 trick. In the 4-card endposition West must play diamond K(and he should have discarded the club instead the diamond in the trick before. Declarer has shown 16 HCP already and you know his distribution is 3424 (partner signaled high/low in clubs).
If declarer has diamond A and Q you cannot prevent him from making 2NT. But your aim is to defend 1NT, so you must assume pd has diamond Q at least.
# 7. 2H-1 2H=
Another defensive slip. With KQx in trumps you are not eager to ruff and AJ9x in dummy is a big threat. This is the time to defend passive. Let him find the Q of diamonds alone. You have 50% that he goes wrong.
Our declarer guessed wrong.

# 8. Thomas why take spade A in the second round? It is only the overtrick, but .....
Push board.
# 9. 4H-3 and 4H= Declarer must lose from the top 1S 1H and 2C
Why not take spade 9 to trick 1, you have a sure entry to the table to discard 1 C.
Why draw trumps and the play clubs? You must ruff a club.
Defense: After heart Q, play A of clubs, there is no reason to underlead the A and make it difficult for partner. West must assume, you have led from the J

# 10. 2S-1 and 2S= Must be 2S-1 at least
You can count declarer for 5224 or 5233. Partner showed the diamond K with 9, so it is futile to play club 7. instead of a diamond. The play suggested that pd has the trump K left, so the heart could be nice try. (After all, why didn’t play declarer himself the 4th round of hearts)
# 11. 3H= and 3H-2 
Very clever declarer play by opponents. Not easy to defend. But cover diamond J is always wrong. It doesn’t matter here, because he had an entry in trumps.
Opponents defended very well too in realizing the diamond ruff.
This hand is not really a mistake, but unlucky outcome and very well done opponents.

# 12. push

# 13. another push

# 14. Lucky that spades behaved, so we gaind 2 IMPs.
Btw. 1S 2C  2D 2N is gameforcing so there is no need to jump to 3NT and you can explore if there is a slam.
